ON THE QUALITATIVE BEHAVIORS OF SOLUTIONS TO A KIND OF NONLINEAR THIRD ORDER DIFFERENTIAL EQUATION WITH DELAY

MOUSSADEK REMILI¹, LYNDA D. OUDJEDI², AND DJAMILA BELDJERD

¹Department of Mathematics, University of Oran Oran 1, 31000 Algeria *E-mail:* remilimous@gmail.com

²Department of Mathematics, University of Oran Oran 1, 31000 Algeria *E-mail:* oudjedi@yahoo.fr

³Department of Mathematics, University of Oran Oran 1, 31000 Algeria *E-mail:* dj.beldjerd@gmail.com

ABSTRACT. By defining an appropriate Lyapunov functional, we establish some new sufficient conditions to the asymptotically stability and boundedness of the solutions for a kind of non-autonomous differential equations of third order. Our results improve and extend some known results in the literature.

AMS (MOS) Subject Classification. 34K20.

1. INTRODUCTION

Third-order differential equations arise in a variety of different areas of applied mathematics and physics, for example, in the deflection of a curved beam having a constant or varying cross section, a three-layer beam, electromagnetic waves or gravity driven flows. In particular, stability, boundedness and asymptotic behavior of solutions of nonlinear third order differential equations have in the past and also recently been researched, because of the absence of its complete solution. It still one of the most burning problems of control theory, dynamical systems, time varying non linear systems and etc. In many works, the authors dealt with the problems by using Lyapunov's functions, and interesting results have been obtained we mention only a sampling of such papers [1-23] and other references therein.

In 1974, Hara [6] investigated the asymptotic behavior of solutions of the differential equation without delay of the form

$$x''' + a(t)x'' + b(t)x' + c(t)f(x) = e(t),$$
(1.1)

1083-2564 \$15.00 ©Dynamic Publishers, Inc.

and showed that all solutions of the equation (1.1) are uniformly bounded and satisfy $x(t) \to 0$, $x'(t) \to 0$ and $x''(t) \to 0$ as $t \to \infty$.

In 2005, Sadek [10], considered the following nonlinear differentiable of third order, with a constant deviating argument r ensure the stability of system

$$x''' + a(t)x'' + b(t)x' + c(t)f(x(t-r)) = 0, (1.2)$$

the following result was proved

Theorem 1.1 ([10]). Suppose that a(t), b(t), and c(t) are continuously differentiable on $[0, +\infty)$ and the following conditions are satisfied:

S1) $0 < a_0 \le a(t) \le A$, $0 < b_0 \le b(t) \le B$ and $0 < c_0 \le c(t) \le C$; for all $t \in [0, +\infty[.$ S2) $0 < f_0 \le \frac{f(x)}{x}$ with $x \ne 0$ and f(0) = 0, $|f'(x)| \le f_1 \le 1$, for all x. S3) $a_0b_0 - C > 0$. S4) $b'(t) + \mu a'(t) - \frac{1}{\mu}c'(t) < \frac{a_0b_0 - C}{2}$, such that $\mu = \frac{a_0b_0 + C}{2b_0}$. S5) $\int_0^\infty |c'(t)| < \infty, c'(t) \to 0$ as $t \to \infty$.

Then the zero solution of (1.2) is uniformly asymptotically stable, provided that

$$r < \min\left\{\frac{2c_0f_0}{f_1C}, \frac{a_0b_0 - C}{(1+a_0)b_0f_1C}, \frac{a_0b_0 - C + 4a_0C(1-f_1)}{2f_1C(1+2\mu+2a_0^2+a_0+(a_0b_0-C)C)}\right\}$$

We shall be concerned here, with asymptotic stability of zero solution and boundedness of all solutions of

$$(q(t)(p(t)x'(t))')' + a(t)x''(t) + b(t)x'(t) + c(t)f(x(t-r)) = 0$$
(1.3)

and

$$(q(t)(p(t)x'(t))')' + a(t)x''(t) + b(t)x'(t) + c(t)f(x(t-r)) = e(t),$$
(1.4)

where q(t), p(t), a(t), b(t), c(t), e(t), and f(x) are real valued functions continuous in their respective arguments and f(0) = 0. The derivatives a'(t), b'(t), c'(t), p(t), p'(t), q(t), f'(x), exist and are continuous in their respective arguments. The equation discussed by Sadek [10] is a special case of equation (1.3) when p(t) = q(t) = 1.

2. PRELIMINARIES

We now give some definitions and important lemma which will play an important role in the proof of our main results. We consider

$$x' = f(t, x_t), \quad x_t(\theta) = x(t+\theta), \quad -r \le \theta \le 0, \quad t \ge 0,$$
 (2.1)

where $f : I \times C_H \to \mathbb{R}^n$ is a continuous mapping, f(t,0) = 0, $C_H := \{\phi \in (C[-r,0], \mathbb{R}^n) : \|\phi\| \le H\}$, and for $H_1 < H$, there exists $L(H_1) > 0$, with $|f(t,\phi)| < L(H_1)$ when $\|\phi\| < H_1$.

Definition 2.1 ([2]). An element $\psi \in C$ is in the $\omega - limit$ set of ϕ , say $\Omega(\phi)$, if $x(t,0,\phi)$ is defined on $[0,+\infty)$ and there is a sequence $\{t_n\}, t_n \to \infty$, as $n \to \infty$, with $\|x_{t_n}(\phi) - \psi\| \to 0$ as $n \to \infty$ where $x_{t_n}(\phi) = x(t_n + \theta, 0, \phi)$ for $-r \le \theta \le 0$.

Definition 2.2 ([2]). A set $Q \subset C_H$ is an invariant set if for any $\phi \in Q$, the solution of (2.1), $x(t, 0, \phi)$, is defined on $[0, \infty)$ and $x_t(\phi) \in Q$ for $t \in [0, \infty)$.

Lemma 2.3 ([1]). If $\phi \in C_H$ is such that the solution $x_t(\phi)$ of (2.1) with $x_0(\phi) = \phi$ is defined on $[0, \infty)$ and $||x_t(\phi)|| \leq H_1 < H$ for $t \in [0, \infty)$, then $\Omega(\phi)$ is a non-empty, compact, invariant set and

$$dist(x_t(\phi), \Omega(\phi)) \to 0 \quad as \ t \to \infty.$$

Lemma 2.4 ([5]). Let $V(t, \phi) : I \times C_H \to \mathbb{R}$ be a continuous functional satisfying a local Lipschitz condition. V(t, 0) = 0, and such that:

(i) $W_1(|\phi(0)|) \le V(t,\phi) \le W_2(||\phi||)$ where $W_1(r)$, $W_2(r)$ are wedges.

(ii) $V'_{(2,1)}(t,\phi) \leq 0$, for $\phi \in C_H$.

Then the zero solution of (2.1) is uniformly stable. If $Z = \{\phi \in C_H : V'_{(2.1)}(t, \phi) = 0\}$, then the zero solution of (2.1) is uniformly asymptotically stable, provided that the largest invariant set in Z is $Q = \{0\}$.

3. ASSUMPTIONS AND MAIN RESULTS

Throughout this paper, we will use the following notations

$$A(t) = \frac{a(t)}{p(t)q(t)}$$
, and $B(t) = \frac{b(t)p(t) - a(t)p'(t)}{p^2(t)}$.

We assume that there are positive constants a_0 , b_0 , c_0 , m, μ , δ_0 , δ_1 , C, L, M, such that the following conditions hold

- i) $0 < a_0 \le a(t), 0 < b_0 \le b(t)$ and $0 < c_0 \le c(t) \le C$; for all $t \ge 0$.
- ii) $0 < m \le q(t) \le p(t) \le M, -L \le p'(t) \le 0$, and $-L \le q'(t) \le 0$, for all $t \ge 0$.
- iii) $(p(t)c(t))' \leq (q(t)c(t))'$ for all $t \geq 0$.
- iv) $a_0 b_0 > \frac{M^3 C \delta_1}{m}$. v) $0 < \delta_0 \le \frac{f(x)}{x}$ with $x \ne 0$ and f(0) = 0, $|f'(x)| \le \delta_1$.

Our main results is the following Theorem.

Theorem 3.1. In addition to conditions (i)-(v) being satisfied, suppose that the following conditions hold

$$\begin{array}{l} \text{H1}) \ \frac{MC\delta_1}{b_0} < \mu < \frac{a_0}{M}, \ \mu = \frac{a_0b_0 + M^2C\delta_1}{2b_0M}. \\ \text{H2}) \ B'(t) + \mu A'(t) - \frac{1}{\rho}c'(t) < \frac{1}{2M}(\frac{a_0b_0}{M^2} - \frac{MC\delta_1}{m}) \ for \ all \ t \ge 0, \ such \ that \ \rho = \frac{\mu}{\delta_1}. \\ \text{H3}) \ \int_0^t |[q(s)c(s)]'| ds \le N < \infty. \end{array}$$

Then every solution of (1.3) is uniformly asymptotically stable, provided that

$$r < \min\left\{\frac{m^2 a_1}{M\delta_1 C(1+\mu+\mu m^2)}, \frac{2(a_0 m - \mu M^2)}{CMm^2\delta_1}\right\},\,$$

where $a_1 = \frac{a_0 b_0}{M^2} - \frac{MC\delta_1}{m}$.

Remark 3.2. When p(t) = q(t) = 1, the conditions (iv), (H1), (H2) and (H3) of Theorem 3.1 are an extension of conditions (S3), (S4) and (S5) of Theorem 1.1 for M = m = 1. Remark that in condition (v) of Theorem 3.1 we assume that $|f'(x)| \leq \delta_1$, but in assumption (S2) of Theorem 1.1 we have $|f'(x)| \leq f_1 \leq 1$ which is particularly restrictive.

Proof. We write equation (1.3) as the following equivalent system

$$\begin{aligned}
x' &= \frac{1}{p(t)}y \\
y' &= \frac{1}{q(t)}z \\
z' &= -A(t)z - B(t)y - c(t)f(x) + c(t)\int_{t-r}^{t}\frac{y(s)}{p(s)}f'(x(s))ds.
\end{aligned}$$
(3.1)

Consider the Lyapunov functional $W(t, x_t, y_t, z_t) = W$ defined as follows

$$W = \exp\left(-\frac{\theta(t)}{\beta}\right) V(t, x_t, y_t, z_t), \qquad (3.2)$$

where

$$V(t, x_t, y_t, z_t) = \mu p(t)c(t)F(x) + q(t)c(t)f(x)y + \frac{1}{2}z^2 + \mu yz + \frac{q(t)}{2}(\mu A(t) + B(t))y^2 + \lambda \int_{-r}^0 \int_{t+s}^t y^2(\xi)d\xi ds, \quad (3.3)$$

such that $F(x) = \int_0^x f(u) du$. β and λ are positive constants which will be determined later and $\theta(t) = \int_0^t |[q(s)c(s)]'| ds < \infty$. We can rewrite (3.3) as follows

$$V(t, x_t, y_t, z_t) = \mu p(t)c(t)F(x) + q(t)c(t)f(x)y + \frac{q(t)c(t)}{2\rho}y^2 + \frac{1}{2}(z + \mu y)^2 + \frac{q(t)}{2}\left(B(t) + \mu A(t) - \frac{c(t)}{\rho} - \frac{\mu^2}{q(t)}\right)y^2 + \lambda \int_{-r}^0 \int_{t+s}^t y^2(\xi)d\xi ds.$$

An easy calculation shows that

$$V(t, x_t, y_t, z_t) = \mu \left(p(t)c(t) - q(t)c(t) \right) F(x) + \mu q(t)c(t)F(x) + q(t)c(t)f(x)y + \frac{q(t)c(t)}{2\rho}y^2 + \frac{q(t)}{2} \left(B(t) + \mu A(t) - \frac{c(t)}{\rho} - \frac{\mu^2}{q(t)} \right) y^2 + \frac{1}{2} \left(z + \mu y \right)^2 + \lambda \int_{-r}^0 \int_{t+s}^t y^2(\xi) d\xi ds.$$

Since $p(t) \ge q(t)$ and the fact that the integral $\int_{t+s}^{t} y^2(\xi) d\xi$ is nonnegative

$$V(t, x_t, y_t, z_t) \geq \mu q(t) c(t) \Psi(t) + \frac{q(t)}{2} \left(B(t) + \mu A(t) - \frac{c(t)}{\rho} - \frac{\mu^2}{q(t)} \right) y^2 + \frac{1}{2} (z + \mu y)^2,$$

where

$$\Psi(t) = F(x) + \frac{1}{\mu}f(x)y + \frac{1}{2\mu\rho}y^2.$$

From (v) we get

$$\Psi(t) = F(x) + \frac{1}{2\mu\rho}(y + \rho f(x))^2 - \frac{\rho}{2\mu}f^2(x)$$

$$\geq \int_0^x \left(1 - \frac{\rho}{\mu}f'(u)\right)f(u)du$$

$$\geq \frac{\delta_0}{2}\left(1 - \frac{\rho\delta_1}{\mu}\right)x^2.$$

Let

$$U(t) = B(t) - \frac{c(t)}{\rho} + \mu(A(t) - \frac{\mu}{q(t)}),$$

using condition (H1) we have U(t) > 0 and according to the conditions (i) and (ii) we obtain

$$V(t, x_t, y_t, z_t) \ge \frac{\mu m c_0 \delta_0}{2} \left(1 - \frac{\rho \delta_1}{\mu} \right) x^2 + \frac{m}{2} U(t) y^2 + \frac{1}{2} \left(z + \mu y \right)^2 \ge 0.$$

Hence there exists some positive constant k_1 such that

$$V(t, x_t, y_t, z_t) \ge k_1(x^2 + y^2 + z^2).$$
(3.4)

Therefore, we can find a continuous function $W_1(|\phi(0)|)$ with

$$W_1(|\phi(0)|) \ge 0$$
 and $W_1(|\phi(0)|) \le W(t,\phi).$

The existence of a continuous function $W_2(\|\phi\|)$ which satisfies the inequality $W(t, \phi) \leq W_2(\|\phi\|)$, is easily verified.

Let $\dot{V}_{(3,1)}(t, x_t, y_t, z_t) = \dot{V}_{(3,1)}$ denote the time derivative of the Lyapunov functional $V(t, x_t, y_t, z_t)$, along the trajectories of the system (3.1). An easy computation shows that

$$\begin{split} \dot{V}_{(3.1)} &= \mu(p(t)c(t))'F(x) + \frac{1}{2\rho}(q(t)c(t))'y^2 + (q(t)c(t))'f(x)y + \left(\frac{\mu}{q(t)} - A(t)\right)z^2 \\ &+ \left(\frac{q(t)}{p(t)}c(t)f'(x) - \mu B(t) + \lambda r\right)y^2 + \frac{1}{2}\left((qB)'(t) + \mu(qA)'(t) - \frac{1}{\rho}(qc)'(t)\right)y^2 \\ &+ c(t)(\mu y + z)\int_{t-r}^t \frac{y(s)}{p(s)}f'(x(s))ds - \lambda\int_{t-r}^t y^2(\xi)d\xi, \end{split}$$

from which we deduce

$$\begin{split} \dot{V}_{(3.1)} &= \mu \left((p(t)c(t))' - (q(t)c(t))' \right) F(x) + \mu (q(t)c(t))' F(x) + \left(\frac{\mu}{q(t)} - A(t)\right) z^2 \\ &+ (q(t)c(t))' f(x)y + \frac{1}{2\rho} (q(t)c(t))' y^2 + \left(\frac{q(t)}{p(t)} c(t) f'(x) - \mu B(t) + \lambda r\right) y^2 \\ &+ \frac{1}{2} \left((qB)'(t) + \mu (qA)'(t) - \frac{1}{\rho} (qc)'(t) \right) y^2 \\ &+ c(t)(\mu y + z) \int_{t-r}^t \frac{y(s)}{p(s)} f'(x(s)) ds - \lambda \int_{t-r}^t y^2(\xi) d\xi. \end{split}$$

 But

$$\begin{aligned} (qB)'(t) + \mu(qA)'(t) &- \frac{1}{\rho}(qc)'(t) &= q(t) \left[B'(t) + \mu A'(t) - \frac{1}{\rho}c'(t) \right] \\ &+ q'(t) \left[B(t) + \mu A(t) - \frac{1}{\rho}c(t) \right] \\ &\leq q(t) \left[\mu A'(t) + B'(t) - \frac{1}{\rho}c'(t) \right], \end{aligned}$$

since $\mu A(t) + B(t) - \frac{1}{\rho}c(t) > \mu A(t) + B(t) - \frac{\mu^2}{q(t)} - \frac{c(t)}{\rho} > 0$, and by (iii) we obtain

$$\begin{aligned} \dot{V}_{(3.1)} &\leq \mu(qc)'(t)F(x) + (qc)'(t)f(x)y + \frac{1}{2\rho}(qc)'(t)y^2 + \left(\frac{\mu}{q(t)} - A(t)\right)z^2 \\ &\quad + \frac{1}{2}q(t)\left(B'(t) + \mu A'(t) - \frac{1}{\rho}c'(t)\right)y^2 + \left(\frac{q(t)}{p(t)}c(t)f'(x) - \mu B(t) + \lambda r\right)y^2 \\ &\quad + c(t)(\mu y + z)\int_{t-r}^t \frac{y(s)}{p(s)}f'(x(s))ds - \lambda\int_{t-r}^t y^2(\xi)d\xi, \end{aligned}$$

we rearrange

$$\begin{split} \dot{V}_{(3.1)} &\leq \mu(qc)'(t)\Psi(t) + \frac{1}{2}q(t)\left(B'(t) + \mu A'(t) - \frac{1}{\rho}c'(t)\right)y^2 \\ &+ \left(\frac{q(t)}{p(t)}c(t)f'(x) - \mu B(t) + \lambda r\right)y^2 + \left(\frac{\mu}{q(t)} - A(t)\right)z^2 \\ &+ c(t)(\mu y + z)\int_{t-r}^t \frac{y(s)}{p(s)}f'(x(s))ds - \lambda\int_{t-r}^t y^2(\xi)d\xi. \end{split}$$

Using the Schwartz inequality $|uv| \leq \frac{1}{2}(u^2 + v^2)$ and since $|f'(x)| \leq \delta_1$, we obtain

$$\mu c(t)y \int_{t-r}^{t} \frac{y(s)}{p(s)} f'(x(s)) ds \le \mu \frac{\delta_1 C r}{2} y^2 + \mu \frac{\delta_1 C}{2m^2} \int_{t-r}^{t} y^2(\xi) d\xi,$$

and

$$c(t)z \int_{t-r}^{t} \frac{y(s)}{p(s)} f'(x(s)) ds \le \frac{\delta_1 Cr}{2} z^2 + \frac{\delta_1 C}{2m^2} \int_{t-r}^{t} y^2(\xi) d\xi.$$

Hence

$$\begin{split} \dot{V}_{(3.1)} &\leq \mu(q(t)c(t))'\Psi(t) + \frac{1}{2}q(t)\left(B'(t) + \mu A'(t) - \frac{1}{\rho}c'(t)\right)y^2 \\ &+ \left(\frac{q(t)}{p(t)}c(t)f'(x) - \mu B(t) + \lambda r + \frac{\mu C\delta_1 r}{2}\right)y^2 \\ &+ \left(\frac{C\delta_1 r}{2} + \frac{\mu}{q(t)} - A(t)\right)z^2 \\ &+ \left(\frac{\mu C\delta_1}{2m^2} + \frac{C\delta_1}{2m^2} - \lambda\right)\int_{t-r}^t y^2(\xi)d\xi. \end{split}$$

If we take $\lambda = \frac{\mu C \delta_1}{2m^2} + \frac{C \delta_1}{2m^2}$, the last inequality becomes

$$\dot{V}_{(3.1)} \leq \mu(q(t)c(t))'\Psi(t) + \frac{1}{2}q(t)\left(B'(t) + \mu A'(t) - \frac{1}{\rho}c'(t)\right)y^{2} \\
+ \left(\frac{q(t)}{p(t)}c(t)f'(x) - \mu B(t) + \frac{C\delta_{1}}{2m^{2}}(\mu + 1 + \mu m^{2})r\right)y^{2} \\
+ \left(\frac{C\delta_{1}r}{2} + \frac{\mu}{q(t)} - A(t)\right)z^{2}.$$
(3.5)

Using (3.2) we obtain

$$\dot{W}_{(3.1)} = \exp\left(-\frac{\theta(t)}{\beta}\right) \left[\dot{V}_{(3.1)}(t, x_t, y_t, z_t) - \frac{|(q(t)c(t))'|}{\beta}V(t, x_t, y_t, z_t)\right].$$

By taking $\beta = mc_0$, using (3.5), (3.4) and since $(q(t)c(t))' - |(q(t)c(t))'| \leq 0$ we have

$$\begin{aligned} \dot{W}_{(3.1)} &\leq \exp\left(-\frac{\theta(t)}{mc_0}\right) \left[\frac{1}{2}q(t)\left(B'(t) + \mu A'(t) - \frac{1}{\rho}c'(t)\right)y^2 \\ &+ \left(\frac{q(t)}{p(t)}c(t)f'(x) - \mu B(t) + \frac{C\delta_1}{2m^2}(\mu + 1 + \mu m^2)r\right)y^2 \\ &+ \left(\frac{C\delta_1r}{2} + \frac{\mu}{q(t)} - A(t)\right)z^2 \right]. \end{aligned}$$

From (i), (ii), (v) and (H1)

$$\frac{q(t)}{p(t)}c(t)f'(x) - \mu B(t) \leq \frac{MC\delta_1}{p(t)} - \left(\frac{a_0b_0 + M^2C\delta_1}{2b_0M}\right)\frac{b_0}{p(t)} \\
\leq -\frac{1}{2}\left(\frac{a_0b_0}{M^2} - \frac{MC\delta_1}{m}\right) \leq 0,$$

hence using (H2) we get

$$\begin{aligned} \frac{1}{2}q(t)(B'(t) + \mu A'(t) - \frac{1}{\rho}c'(t)) + \frac{q(t)}{p(t)}c(t)f'(x) - \mu B(t) \\ < -\frac{1}{4}\left(\frac{a_0b_0}{M^2} - \frac{MC\delta_1}{m}\right) < 0. \end{aligned}$$

Thus,

$$\dot{W}_{(3.1)} \leq \exp\left(-\frac{\theta(t)}{mc_0}\right) \left[\left(-\frac{1}{4} \left(\frac{a_0 b_0}{M^2} - \frac{MC\delta_1}{m}\right) + \frac{C\delta_1}{2m^2} (\mu + 1 + \mu m^2)r\right) y^2 + \left(\frac{C\delta_1 r}{2} + \frac{\mu}{m} - \frac{a_0}{M^2}\right) z^2 \right].$$

Condition (H3) shows that $e^{-\frac{\theta(t)}{\beta}} \ge e^{-\frac{-N}{\beta}}$. Therefore, if

$$r < \min\left\{\frac{m^2 a_1}{2\delta_1 C(1+\mu+\mu m^2)}, \frac{2(a_0 m - \mu M^2)}{CM^2 m \delta_1}\right\},\,$$

where $a_1 = \frac{a_0 b_0}{M^2} - \frac{MC\delta_1}{m}$, thus

$$\dot{W}_{(3.1)}(t, x_t, y_t, z_t) \le -\gamma(y^2 + z^2), \text{ for some } \gamma > 0.$$

It is clear that the largest invariant set in Z is $Q = \{0\}$, where

$$Z = \left\{ \phi \in C_H : \frac{d}{dt} W(\phi) = 0 \right\}.$$

That is, the only solution of system (3.1) for which $\dot{W}_{(3.1)}(t, x_t, y_t, z_t) = 0$ is the solution x = y = z = 0. The above discussion guarantees that the trivial solution of equation (1.3) is uniformly asymptotically stable and completes the proof of the Theorem.

In the case $e(t) \neq 0$ we establish the following result:

Theorem 3.3. In addition to the assumptions of Theorem 3.1, If we assume that e(t) is continuous in \mathbb{R} and

$$\int_0^t e(s)ds < \infty \quad \text{for all } t \ge 0.$$

then all solutions of the perturbed equation (1.4) are bounded.

Proof. The remaining of this proof follows the strategy indicated in the proof of Theorem 2 in [9] and hence it omitted. \Box

Example. We consider the following third order non-autonomous delay differential equation

$$\left(\left(\frac{1}{8(1+t^2)} + \frac{31}{8}\right)\left(\left(\frac{1}{4(1+t^2)} + \frac{31}{8}\right)x'(t)\right)'\right)' + (20+e^{-t})x''(t)$$
(3.6)

$$+\left(36+e^{-2t}\right)x'(t)+\left(\frac{1}{20(1+t)}+\frac{1}{20}\right)\left(\frac{x(t-r)}{200}+\frac{x(t-r)}{200(1+x^2(t-r))}\right)=2e^{3-t}.$$

We have

$$\begin{aligned} \frac{31}{8} < q(t) &= \frac{1}{8(1+t^2)} + \frac{31}{8} \le p(t) = \frac{1}{4(1+t^2)} + \frac{31}{8} \le 4, \\ -\frac{1}{4} \le p'(t) < 0, \ -\frac{1}{8} \le q'(t) < 0, \text{ for all } t \in [1, +\infty[.\\ \frac{1}{200} \le \frac{f(x)}{x} = \frac{1}{200} + \frac{1}{200(1+x^2)} \text{ with } x \ne 0, \text{ and } |f'(x)| \le \frac{1}{10^2} = \delta_1. \end{aligned}$$

It follows easily that

$$\frac{1}{20} \le c(t) = \frac{1}{20(1+t)} + \frac{1}{20} \le \frac{1}{10},$$

$$36 \le b(t) = 36 + e^{-2t} \le 37; \text{ and } 20 \le a(t) = 20 + e^{-t} \le 21,$$

$$-2 \le b'(t) \le 0; \quad -1 \le a'(t) \le 0,$$

$$\frac{1}{20} \le c'(t) \le 0; \text{ for all } t \in [1, +\infty[.$$

Since $p(t) - q(t) = \frac{1}{8(1+t^2)}$, it is easy to see that

$$(p(t)c(t))' - (q(t)c(t))' = (p(t) - q(t))c'(t) + (p'(t) - q'(t))c(t) \le 0,$$

then $(p(t)c(t))' \leq (q(t)c(t))'$ for all $t \in [1, +\infty[$. Now, we verify conditions (H1) and (H2), we have

$$B'(t) = \frac{b'(t)p^{2}(t) - [b(t) + a'(t)]p(t)p'(t) - a(t)p(t)p''(t) + 2a(t)p'^{2}(t)}{p^{3}(t)}$$

$$\leq \frac{-b(t)p(t)p'(t) + 2a(t)p'^{2}(t)}{p^{3}(t)} \leq 0,68;$$

$$A'(t) = \frac{a'(t)p(t)q(t) - a(t)(p'(t)q(t) + p(t)q'(t))}{(p(t)q(t))^{2}}$$

$$\leq \frac{-a(t)(p'(t)q(t) + p(t)q'(t))}{(p(t)q(t))^{2}} \leq 0.14.$$

We have $\mu = \frac{a_0 b_0 + M^2 C \delta_1}{2b_0 M} = 2.5$, we obtain $\frac{1}{\rho} = \frac{\delta_1}{\mu} = 0.004$. We deduce that

$$\mu A'(t) + B'(t) - \frac{1}{\rho}c'(t) < 1, 1 < \frac{1}{2M} \left(\frac{a_0 b_0}{M^2} - \frac{MC\delta_1}{m}\right) = 5,62.$$

Finally we have $\int_1^{\infty} 2e^{3-s} ds < \infty$. Hence All the assumptions (i) through (v), are satisfied, (H1), (H2) and (H3) also hold, we can conclude using Theorem 3.3 that every solution of (3.6) is bounded.

Remark 3.4. An easy computation of derivatives shows that equation (1.3) can be rewritten as

$$x''' + \alpha(t)x'' + \beta(t)x' + \gamma(t)f(x(t-r)) = 0, \qquad (3.7)$$

where

$$\alpha(t) = \frac{p(t)q'(t) + 2q(t)p'(t) + a(t)}{p(t)q(t)}, \quad \beta(t) = \frac{q'(t)p'(t) + q(t)p''(t) + b(t)}{p(t)q(t)},$$

and $\gamma(t) = \frac{c(t)}{p(t)q(t)}$. If we apply Sadek's Theorem [10] to show that every solution $\mathbf{x}(t)$ of (3.7) is uniform-bounded and satisfies $x(t) \to 0$, $x'(t) \to 0$ and $x''(t) \to 0$ as $t \to \infty$, then the differentiability of α and β is needed, which implies the use of the second derivative of q and the third derivative of p. However in our Theorem this latter conditions are not required since we just need to deal with p', p'' and q'.

REFERENCES

- T. A. Burton, Stability and periodic solutions of ordinary and functional differential equations, Mathematics in Science and Engineering, 178. Academic Press, Inc., Orlando, FL, 1985.
- [2] T. A. Burton, Volterra Integral and Differential Equations, Mathematics in Science and Engineering, 202 Elsevier B. V., Amsterdam, 2005.
- [3] J. R. Graef and Moussadek. Remili, Some properties of monotonic solutions of x''' + p(t)x' + q(t)f(x) = 0, Pan. American mathematical journal V22 (2012) number 2, 31–39.
- [4] J. R. Graef, C. Tunç, Global asymptotic stability and boundedness of certain multi-delay functional differential equations of third order, *Math. Methods Appl. Sci* (2014), (in press).
- [5] J. K. Hale, Sufficient conditions for stability and instability of autonomous functional-differential equations, J. Differential Equations 1 (1965), 452–482.
- [6] T. Hara, On the asymptotic behavior of the solutions of some third and fourth order nonautonomous differential equations, Publ. Res. Inst. Math.Sci 9 (1973/74),649–673.
- [7] L. Oudjedi, D. Beldjerd and M. Remili, On the stability of solutions for non-autonomous delay differential equations of third-order, *Differential Equations and Control Processes*, 1 (2014), 18–29.
- [8] M. O. Omeike, New results on the stability of solution of some non-autonomous delay differential equations of the third order, *Differential Equations and Control Processes*, 1 (2010), 18–29.
- [9] M. O. Omeike, Stability and boundedness of solutions of some non-autonomous delay differential equation of the third order, An. Stiint. Univ. Al. I. Cuza Iasi. Mat. (N.S.), 55(1) (2009), 49–58.
- [10] A. I. Sadek, On the Stability of Solutions of Some Non-Autonomous Delay Differential Equations of the Third Order, Asymptot. Anal., 43 no (1-2) (2005), 1–7.
- [11] A. I. Sadek, Stability and Boundedness of a Kind of Third-Order Delay Differential System, Applied Mathematics Letters, 16(5) (2003), 657–662.
- [12] C. Tunç, On the asymptotic behavior of solutions of certain third-order nonlinear differential equations, J. Appl. Math. Stoch. Anal. 1 (2005), 29–35.
- [13] C. Tunç, On the stability and boundedness of solutions to third order nonlinear differential equations with retarded argument, *Nonlinear Dynam.* 57 (2009), no. 1–2, 97–106.
- [14] C. Tunç, Some stability and boundedness conditions for non-autonomous differential equations with deviating arguments, E. J. Qualitative Theory of Diff. Equ., No. 1. (2010), 1–12.
- [15] C. Tunç, Stability and boundedness of solutions of nonlinear differential equations of thirdorder with delay, *Journal Differential Equations and Control Processes* (Differentsialprimnye Uravneniyai Protsessy Upravleniya), No.3, (2007), 1–13.
- [16] C. Tunç, Stability and boundedness for a kind of non-autonomous differential equations with constant delay, Appl. Math. Inf. Sci. 7 (2013), no. 1, 355–361.

- [17] C. Tunç, Stability and boundedness of the nonlinear differential equations of third order with multiple deviating arguments, Afr. Mat. 24 (2013), no. 3, 381–390.
- [18] C. Tunç, Stability and bounded of solutions to non-autonomous delay differential equations of third order, *Nonlinear Dynam.* 62 (2010), no. 4, 945–953.
- [19] T. Yoshizawa, Stability theory by Liapunov's second method, The Mathematical Society of Japan, Tokyo, 1966.
- [20] B. Yuzhen and G. Cuixia, New results on stability and boundedness of third order nonlinear delay differential equations, *Dynam. Systems Appl.* 22 (2013), no. 1, 95–104.
- [21] L. Zhang, L. Yu, Global asymptotic stability of certain third-order nonlinear differential equations, Math. Methods Appl. Sci. 36 (2013), no. 14, 1845–1850.
- [22] J. Zhao, Y. Deng, Asymptotic stability of a certain third-order delay differential equation, J. Math. (Wuhan), 34 (2014), no. 2, 319–323.
- [23] Y.F. Zhu, On stability, boundedness and existence of periodic solution of a kind of third order nonlinear delay differential system, Ann. Differential Equations 8 (2) (1992), 249–259.